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fitz i 15 6-10 7.5-9.4 2
R R (mg/) 100 <20 - 50 A
BiFEIRE B (mg/) 10 <l )
Wi BRI 8 & (mg/l) 2000 363 - 1300 =
Fifb ¥ #8 & (mgl) 10 <0.5-1.3 yis
fLIHEE (m) 0.1 : 0.04 - 0.063 b
BEEMEE
(mg/) 100 <15-23 yiea
WS (mg/) 20 <15 yes
MHEE  (mg) 0.5 <0.3. pisa
EEFEAEE (mgl) 1 <0.6 pies
e e T 2% 1D 1 R
(mg/) 15 <2 =
BHEBE (mgh) 200 30 - 140 s
BE (O 43 31-36 yass
WiEmE 2 BEm BRI LLT =
EEEE -
W (mg/l) 2 <0.4 pe=s
$H  (mg/) 5 <l =
#  (mg/l) 0.1 <0.1 =
#&  (mg/l) ] <0.3 yi=s
#1  (mg/ 2 <0.5-0.68 =
i (mg/l) 2 <l =
# (mg/l) 5 <0.2 =
7K (mg/h) 0.05 <0.05 =
$8  (mg/l) 2 <l =
R (mg/l) 2 <0.4 =
# (mg/) 5 <1 b
$¥ (mg/l) 2 <l-12 yi=s
EHEEBHEEY
(mg/l) 10 <7.0-73 B
i (mg/) 5 <1-19 v
5 (mg/l) 10 <2 &
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Aldrin (mg/l) 0.01 <0.0] i
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WA LLE (mg/) 0.01 <0.01 e
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(mg/D) 0.05 <0.05
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(mg/l) 0.003 <0.003
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B BEREE s
(pc/D) 10000 <10000
$&-226 (pc/l) 30 <30 pizs
£-90 (pe/D) 100 <100 yiss
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Bk (mg/m’) 75 2.1 i
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(mg/m’) 100 5.4 =
Y LAY
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) (mg/m’) 25 <0.4 =
B 1 (LA B 2t 5
(mg/m’) 100 20.0 &
Z& LB (mg/m’) 750 247 ys
HEE (mg/m) 38 4.9 =
B4 B (LLB Al 8
(mg/m’) 15 <0.647 ps
AACE (mg/m’) 7.5 <0.8 &
RILR (mg/m’) 7.5 <4.0 =
8B (% —
)
K (mg/m’) 3 0.015 s
#% (mg/m’) 3 <0.016 S
£ (mg/m’) 3 <0.032 =
EseB (=
) :
$4 (mg/m’) 10 <0.032 =
$ (mg/m’) 10 <0.032 2
i (mg/m’) 10 <0.006 2
$2 (mg/m’) 10 <0.032 i
& (mg/m’) 10 <0.016 =
B-RE_HES
& B & (mg/m’) 10 <0.183 =
TIEE (ng/m) 0.1 0.0012 &
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i W I8 (/K) 8 (4 fICI L) 12.1-12.8 At
S ETor Ll (%) (30 (U AR 48 - 91 A
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% (ppm) 0.5 <0.5 R
7 (ppm) 0.1 <0.02 T
$&HE R (ppm) 10 <0.5 T
#1 (ppm) - <0.5-55
% (ppm) - <0.5 -
g1 (ppm) <l-69
§¥ (ppm) - <0.5-39
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8 E (ppm) 25 <2.5-84 =
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Kift4 (ppm) 10 <5 yis
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